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Note

i

ECONOMICS
PAPER - III

el
Ju-III

:This paper contains Seventy Five (75) Multiple-choice/Assertion and
Reasoning/Matching questions carrying TWO (2) marks each. Attempt All

the questions.

Pl aeHl ddidR (9u) agRsefla wadl, wW-uig wA ASs oirlddlnl wsdl
B, AR Wil gl damadl 8. Hds W 4 (R) s 8.

The first fundamental theorem of

welfare economics requires :

(A) Producers and consumers to be

price takers

(B) That there be an efficient

market for every commeodity

(C) That the economy operates at
some point on the utility

possibility curve
(D) All of the above

Agriculture contributes .................. of

GDP in India today.
(A) 42%
(B) 27%
(C) 18%

(D) 57%
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(A) 42%
(B) 27%
(C) 18%

(D) 67%
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Commercial banks finance rural

credit directly and through :
(A) NABARD

" (B) Rural Banks

(C) Co-operative Societies )
(D) State Governments

In India Neonatal mortality rate is
measured while taking reference
period :

(A) 3 months after birth

(B) 1 month after birth

(C) 28 days after birth

(D) None of the above

A cartel is :

(A) a market structure with a small

number of large firms
(B} a market with only two firms

{C) a group of firms acting together
to raise price, decrease output

and increase economic profit

(D) a market structure with a large

number of small firms
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6. Movement from an inefficient

allocation te an efficient allocation

in the Edgeworth Box will :

(A) Increase the utility of all

individuals

(B) Increase the utility of at least

one individual, but may

decrease the level of utility of

another person

(C) Increase the utility of one

individual, but cannot decrease

the utility of any other

individual

(D) Decreases the utility of all

individuals
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The Second Green Revolution
proposed by the then Prime Minister
Dr. Manmohan Singh; does not

include :

(A) helping Indian farmers

participate in global agri trade
(B) encourage FDI in agriculture
(C) improve storage of crops
(D) minimise post-harvest wastage

Kyoto Protocol required which of the

following ?

(A) Targets for reducing green-
house gas emissions

(B) Targets for reducing global
warming

(C) Targets for impl.ementing

Environment Protection Act

(D) All of the above
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10.

Euler’s prodﬁct exhaustion
theorem is valid for the product
activity .

(A) Only under decreasing returns

to scale

(B) Only under constant returns to

scale

(C) Only under increasing returns

to scale

(D) Under whatever returns to

scale

Assertion (A) : The industrial
structure in India has beome non-

competitive over time.

Reasoning (R) : The government’s
licensing and other internationalist
policies were devised to benefit the

public.

(A) Both (A) and (R) are true

(B} Both (A) and (R) are false

(C) (A) 1s true but (R) is false

(D) (A) is false but (R) is true
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11.

12.

As both the 2-SLS and LIML (east
variance ratio) estimators are the
members of the family of K-class
estimators, they are identical for :
(A) K less than zero

(B K equal to zero

{C) K equal to unity

(D) For any value of K larger than

unity
According to Mundell in an

optimum currency area, the
achievement of internal and
external balance is possible

through :

(A) Inflows of funds from abroad
(B) Official development assistance
(C) Mobility of factors

(D) Capital flows
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13.

14,

A forward-shifted tax will affect :

(A) Consumers more than suppliers

(B} suppliers more than consumers

(C) Consumers and suppliers

equally

(D) Government revenues negatively

Economists who argue that the

main effect to output and prices in

the economy cormes through MV and

not just M are called :

(A) Monetarists

(B) Keynesians

(C) Classicists

(D) All of the above
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15.

16.

Interest

R

Quantity of Money
(M)

In the above figure QR curve
shows :

(A) Speculative demand for money
(B) Transaction demand for money
(C) Total demand for money

(D) None of the above

For a MPC of 0.75, what will be the

value of multiplier :
(A) 0.25
(B) 1.25
(C) 4.00

D) 3.75
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17.

18.

A Most Favoured Nation Status

does not necessarily refer to :

(A) Same and equal economic

treatment
(B) Non-discriminatory treatment
(C) Same tariff rates applicable
(D) Uniform Civil Code

Which of the following forms the
invisible account of the Balance of

Payment of a country ?
(A) International trade in services

(B) Income associated with non-

resident assets and lisbilities
(C) Remittance of worker income

(D) All of the above
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19.

20.

In  pursuance with the

recommendations of Narasimhan
Committee, the RBI has framed
new guidelines :

(A) to reduce the freedom given to
banks to rationalize their

existing branch networks

(B) to lend more easily for

industrial development

(C) to govern entry of new private
sector banks to make the
sector

banking more

competitive

(D) to

exchange banks

set’ up more foreign

Trade Related Investment Measures
(TRIMS) does not apply for :

(A) Measures that affect trade in
goods

(B) Measures that lead to

restriction in quantities

(C) Discouraging measures that
limit a firm’s imports

(D) Discouraging measures that

limit a firm’s exports
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21.

22.

General Agreement on Trade in

services will not be applicable to :

(A) Services supplied from one

country to anocther

{B) Transaction of goods across the

border-export/import

(C) Individual’s travelling from one
country to supply services in

another country

(D) Consumers/firms making use of

a service in another country

If individuals forecast future prices
by examining the rates of inflation
of the present and recent past, they

are using :

(A) adaptive expectations
(B) rational expectatiops
(C) inflationary expectations

(D) structural expectations
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23.

24.

Fiscal deficit in the union budget

means :

(A) net increase in Union

Government’s borrowings from

RBI

{(B) the sum of monetized deficit

and budgetary deficit

(C) the difference between current

revehue and current

expenditure

(D) the sum of budgetary deficit
and net increase in internal

and external borrowings

Which sister organisation of the
World Bank helps private activity
in developing countries by financing
projects with long term capital in

the form of equity and loans ?
(A) Asian Development Bank
(B) IMF

(C) International Development

Association

(D) International Finance

Corporation
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25.

26.

Which one of the following
committees recommended the
abolition of reservation of items for
the small scale sector in industry ?
(A) Nayak Committee

(B) Abid Hussain Committee

(C) Rakesh Mohan Committee

(D) Narasimham Committee

In a multiple regression model, the
f-statistic for testing the slope is
significantly different from zero may

be calculated :

(A) by dividing the estimate by its
standard error

(B) from the square root of the
F-statistic

(C) .by multiplying the p-value by
1.96

(D) Using the adjusted R square

and the confidence interval
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27.

28.

Which of the following is a valid
objective function of a linear

programming problem ?
(A) Max 5xy

(B) Min 4x + 3y + (213
(C) Max 5xy + 6y + 32
(D) Min (xy + x9¥xg

In a zero sum game :

(A) What one player wins, the other

loses

(B) The sum of each player’s
winnings if the game is played
many times must be zero

(C) The game is fair—each person

has an equal chance of winning

(D} Long-run profits must be zero
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29.

30.

31.

The country that attracts the

largest FDI inflow is :
(A) India
(B) China
(C) USA
(D) Brazil

In India census of 2011 was done

on .

(A) Jan. 1, 2011
(B) Feb. 1, 2011
(C) March 1, 2011
D) April 1, 2011

If a monopolist is charging high

- price, then it means he is operating

on :
(A) The elastic part of a demand

curve

| (B) The inelastic part of a demand

curve

(C) The constant elastic part of a

demand curve

(D) Ignores elasticity of demand
altogether '
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32.

33.

Which situation will be termed as
having increase in ‘demographic

dividend’ in a country :

(A) Population in the age group

between 0-7 is likely to rise
(B) Population in the age group

between 8-15 is fikely to rise

(C) Population in age group

between 15-64 is likely to rise
(D} Population in the age group
above 65 years is likely to rise
Which of the following could shift
a firma’s average variable cost curve
upward ?
(A) An increase in productivity of

labour

_(B) An increase in fixed cost

(C) A decrease in the demand for

the good produced by that firm

(D) A deerease in the productivity

of labour
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34.

35.

According to Human Developoment
Report 2015 how much percentage
of population of India is suffering

from multidimensional poverty :

(A) 26

(B) 42

(C) 55.3

D) 31

The ability to pay principle of 35,

taxation is logically most consistent

with the normative notion of :
(A) Value added taxation

(B) Tax neutrality

(C) Vertical equity

(D) Horizontal equity
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34. 2015 -l 44 Qs s WL,

oLyl guinayes Aol g aadiu

heal 25l (U5 odl?
(A) 26

(B) 42

(C) 55.3

(D) 31

53U sl ABa-l Rigia ¥ s

gRen flA-uiell st [QuiR WA P

-

9?
(A) yed alld 54’ (VAT)

(B) 53 deadl

(C) dotfl Al (Vertical equity)
(D) [Afer Aunictl (Horizontal equity)

(P.T.0.]



36.

37.

In classical theory of employment  36.

average propensity to consume was

assumed to be :
(A) Equal to one
(B) More than one
(C) Less than one

(D} None of the above

When the ratio of indirect taxes to 37.

total taxation revenue is very high,

it leads to :

(1) rise in the price level

(2) higher tax burden on the rich
(3} higher tax burden on the poor
(4) fall in tax revenue

Select the correct answer using the

codes given below :
(A) 1 and 2

(B) 1, 2 and 4

(C) 1, 3 and 4

(D) 1 and 3

Economies-II1 20

wRvedl AL Regiaui aizn
auzia gla HA-uxiel dedl azami 2udl
adl?

(A) s

(B) s sl aaul

(C) s 53 tieh

D) GuuAidl si§ ]

&4 sd-fl wuasui, wie s:dauq
W vl Gy Sl di ARA-unidl sy

yvuy, g 697
(1) Budidi aqil sy 9

(2) a-ls dist 4R 593U iR afdl
)

(3) AdloL disl YR 59Ul o0 a8 8
4) £l Uil qas wy 9

(3 vuNel Sisi Guaidt s34 AA-unia

WAL wael yais $3U
(A) 1 ¥+ 2

(B) 1, 2 w4 4

© 1,3 x5 4

D) 1 24 3



38.

39.

(A)

A demand function satisfies the
gross substitutability property if an

increase in the price of good x :

(A) increases the demand for every

other good y

(B) increases the demand fo_r at

least one other good y

(C) decreases the demand for at

least one other good y

(D) keeps the demand for at least

one other good y constant

M3 measure of money supply

does not include :
cash with public

(B) demand deposit with post

“offices

(C) time deposit with banks

(D) demand deposit with banks

Economics-TI1
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38.

39.

wiat [Q8y go AAws - e ulyel

520 g sdad A S8 As axg x

BHaul ail ay ol :

(A) oudl-l 35 azg y +ll Wiami QuRl

TR

(B) il wlitfl ol As qarxg y -l

HioML asl] Wy §

(C) 2l il ollew w5 azg y -l

oML H21sl Ay

D) Hesini 2digdl oflep s argg y +ll 1oL
Raz 28 ®

RAL YR8t My L ouas{lui

SR swil qde adl ?
(A) aisi wa+l ss

(B) Wiz isluul vl »ugdl Hist

Yrust

(C) oesl WA v 2uadl @il

Yed-ll auw

(D) Siesl WA, WA ac] oL qug
[P.T.O.]




40.

41,

Under which of the following
fu'ndarnental assumption Robert
Solow was able to show that steady
state growth was possible and

gtable ?
(A) Flexible S/Y ratio

(B) Constant growth rate of

population

(C) Constant rate of technical

change
(D) None of the above

Which of the following receipt is
considered in the estimation of the

National Income of a country ?
(A) Transfer payments
(B) Subsidy payments

(C) Income of the non-residents of

the country

(D) Income from capital gain

Economics-TI1
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41.

Al nniel 35 yoopd aeudl weedl
el Wl oiidl wsd 3 (steady state
growth) s vin Raz &7

(A) Ralaaius S/Y wua (ratio)
(B) axdl-i qual Rar €2

(C) 250lsa 351340 RuR €2

D) Gu-uniefl 81§ dl

v2el, ngdla sasdl amollud,

DAzl Al wdn w87

(A) edia@ ysasll

(B) uorllel ysaxll

(€) turdl sllFarl @liaxi-dl 2uas

D) 151&109112([ adl wuas



42.

43.

The capital regulation as per
BASEL-III norms are to be finally
implemented in India by :

(A) March 31, 2015

(B) March 31, 2016

(C) March 31, 2017

(D) March 31, 2018

In input-output analysis, (I-A) is
called :

(A) A Leontief matrix

(B) A technology matrix

(C) An adjoint matrix

(D) None of the above

Is the Cobb-Douglas production
function P = A(LP, K®) not suitable

as an agricultural production

function because :

(A) The production function is not

linear

(B) The production function is not
a CES type

(C) The production function does

not incorporate the most

important factor of production

(D) The production function is not
applicable to farming
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BASEL-TIT ] saiqet w8l elladyi
olsivl Y8l [MExAR sctt Faivl vua
e :

(A) wd 31, 2015 ol ad

B) wd 31, 2016 # 9d

(Cy =l 31, 2017 4l a3

D) WA 31, 2018 o} ad
Input-output ([QsayaMi, (I-A) X :
(A) didi-dls sy

(B) es-lidi A5y

(C) visAdre Adlsu

D) Guariiedl SIS Al

sloi~-goeua Gowed RAx P = AP,
K* s Gouet Q8 a3 iRl

suL sl s AHl?

(A) Gewie-t @8y Y3u (Yinear) =l

(B) Gewiedt (Q8u CES usiay «idl

(C) Gewlet [A8UML Geuled], el aall
Hscdd, At AR{HE dami 2iag

«fl

Gewle [A8Y gM&A ey usg
el

(D)

[P.T.0.]



4b.

46.

The marginal physical product of

capital is the addition to :

(A) Total revenue generated by
adding a unit loanable funds to

production

(B) Total physical product
generated by adding a unit of

capital to production

©

Total revenue generated by
adding a unit of capital to

production

(D) Total physical product divided

by a unit of capital
According to Marshall, wage rate
is determined by marginal
productivity of labour only.
The above statement is :
(A) Wrong
(B) Correct

(C) Partially correct

(D) Incomplete statement
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45.

38l Wic olilas Aeia 2ed

(A) Gowlendl €l eisiad »lsH

GRlRadl e asHl "ol sl

(B) GoweMl ygld, Msd Gl ga

46,

ofllasy Yelami adi qsuzi

(C) Gewel ysld sy Gl sa

BAsHL Al a8l

(D) sa cllas Ysla % 38l wsy
Higdenl 1 Yoo, Ad-t-tl 83 st su-l
AHid Gewesall sl wy 87

Buxd sa- :

(A) Wg B

(B) W’ 8

(C) »ifas Ld AR B

D) >yl s B



47.

438.

According to Samuelson, choice of
a consumer reveals his preference
from a bundle of goods from

those :

(A) That are offered by shopkeepers

(B) That can be purchased by him,
given his income

(C) Listed by him according to
priority

(D) That were made available to
him on prices quoted by him
The oldest large scale industry in
India is :

(A) Jute

(B) Cotton

(C) Paper

(D) Iron and Steel
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47, 3yuau-nd 1 e ussdl wisll

48.

Al 3 argalidl %y Hie-dl HAdisH

wRiulzd 53 B § ¥ :
(A) E51812 g3l a-{l Ama ysari »ud
2

(B) arit gLt d«ll suas sl eliA

& Wl wsiy d

(C) Al MM d-l gzl YR R

sl 2udl sl

(D) ¥ Reli-l dnil gzl Bud aisasi

widl sin a dd Gudey szudl

QArniell sdi Gealor euct-l Alell ol

W2l Wl wredl Gedal 87
(A) e
(B) 5LuS
(C) s

(D) divis A Wl

[P.T.O.]



49.

50.

The interpretation of the slope
b,
logY) =a + b loglx) + u is :

coefficient, in the model

{A) A 1% change in x is associated
with a 6% change in Y

(B) A change in x by one unit is

associated with a ‘b’ change

inY

(C) A change in x by one unit is
associated with a 100 5%

change in Y

(D) A 1% change in x is associated
with a change in Y by 0.01 &

Pareto optimality is a state of
allocation of resources in which it
is impossible to :

(A) make any one individual better

off without making at least one

individual worse off

(B) make any one individual better
off without making at least one

other individual better off
(C)

make any one individual better
off without making more than

one individual worse off

(D) conclude who will be better off

and who will be worse off

Economics-I1]
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49.

50.

Hdd log(Y) = a + b log (x) + u Hi
B UGS b o vidHed lAuuiy]
53 97

(A) x ™ udl 1% L 33512 Y U b%

33512 539

(B) x i % dAsMHl 33512 Y 4 9’

5351 539

(C) x Wi adi 21 »hsun] 33513 Y o
100 5% 33513 434

D) x 4 Adl 1% -t 53512 Y wi
0.01 b %2al 335l 529

Y32l vtrpgedH A2 na-iql Al adaefl

O

(A) 2 vl s alkad qand

utet sul do2 sidug s AlBdnA
Qi AR s, xUsU D

2le9t] 20e9] oflow A g w3 qaild
UL otela) 9oL, SIS A A3

(B)

qul3 AT sk Musy S

(C) ¥is sl aa1? Aalbda aard wae
sul o1z 416 By ul3aq aui 0z

S5UY, HusU B

(D) stot qmil W 4dl 2 5L aald

WM AR A sdq ALY D



51. With reference to national mission

on sustainable agriculture (NMSA),

consider the following statements :

(1) It seeks to transform Indian
Agriculture into a climate-

resilient production system

(2) It will provide carbon credit to

organic farmers.

Which of the statements given

above is/are correct ?
(A} Both 1 and 2
(B) 1 only
(C) 2 only

(D) Neither 1 nor 2

population in India is :
(A) 372
(B} 382
(C) 392

(D) 359
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51.

52. As per 2011 census, the density of 52

Agd Hlad il HeUed wallseuA
(NMSA) waiAMl 2vllA, A Qe

w2 (AUl s

(1) L dri 5[ Aleledl 2igsa
Gewet uglaul sizalqal w9

(2)

s vidl s3etzl VMg 2L gLl

siol 3sl2 Hasl
Bur vilen [Qaimidl sy/sui
R Wy 87
(A) 1 @ 2 ot
(B) H=t 1
(C) HA 2
(D) 1 »t 2 widll 565 Al

2011 (1 9adl sl W, ednl

cacdledl s (ofludy) sedl 87
(A) 372
(B) 382
(C) 392

(D) 359
[P.T.O.]



83.

o4.

(D)

The demand for money will fall
if ;

(A) real GDP rises

(B)

real interest rates rise

(C) the GDP deflator rises

(D) people expect deflation in the

near future

Given that each and every agent in
an exchange economy is having
disposable positive endowments,
which of the following axioms is not
necessary for the Walrasian
equilibrium to exist ?

(A) The utility function of each and

every agent is linear

(B) The utility function of each and

every agent is continuous

(C) The utility function of each and
every agent is an increasing
function of the quantity of

commodities

The utility function of each and

every agent is concave

Economics-IT1
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Al Mo yest afd wul

-

(A) ardalds la 2ias qé dl
(B) dlt(As ayuw g3l 48 di
(C) AN wias deflator 48l dl

(D) sl M[avpy gl saa-dl &

Al adisil »lan ¢iu dl
[Alnu wddxui % e3s Al3d w
S51R1US GAwe-l Alarl wiu dl DA
sui e su-tmidl did 3y umgan
WA, sy [Qa %3] 4?
(A) €38 ABdy grdlop @AY yiv &
(B) €35 YBad gadlo A8 udd ©
(C) e3s aaliad qdlaym Rdy,
Aflwdrgativl #eal Increasing
Function £
(D) €35 Aldad g¥lape [AQY concave

&



55. Which of the following is included ~ 55. M, ui -fla-uxiel g swaaflai danmi »uq

in M, ? 87

(A) gold (A) Ald

(B) credit cards (B) 3%l2 %3

(C) chequable deposits (C) As gm' aundl ausl
(D) money market mutual funds (D) iRl ol Y §5

56. Which of the following macro- 56, «{ld-1nigl unA Mg 54 A4

economic vari_able 18 acycifcal ? (variable) a3y ©?
(A) real interest rate (A) airdlds -l 2
(B) unemployment: (B) arizougl

(C) money supply (C) -l yrasl

(D) consumption (D) Gyadidt
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57.

58.

If a firm moves from one point on
a production isoquant to another,
which of the following will not
happen ?

(A) A change in the ratio in which

the inputs are combined

(B) A change in the marginal

product of the inputs

(C) A change in the rate of

technical substitution
(D) A change in the level of output

Decision taken at Bretton Woods

Conference led to the formation

of :

(A) IDA

(B) 'IMF

(C) ADB

(D) TFC

Economies-I111
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R ULl Al UM Gelled Jviiel 3 (Big
w2l oflo (Big w2 2 dl, lAAmie sy
Adl on?

(A) Goulenel A4 ¥ WHLRL oloy

S3AHL Al 9 dHl FesiR

(B) Gewle-, Aandl Al Ysiemi

381

(C) 2slsel AL NH@L (ratio)

ul F51R
(D) GeMterl Ml 5351

A2gsy Sesiuui 2dd A ual

A2Amiel ¢ Al Geora aui?
(A} IDA
(B) IMF

(C) ADB

(D) IFC



59.

60.

In Domar’s model :

(A) More emphasis is given on
increasing capital output ratio
is

(B) Keynesian economics

completely rejected

(C) Classical economics 1s

completely rejected

(D) Investment is needed to

increase the demand as well as
supply
Fiscal i)olicy in developing country
like India aims at :

(A} Widening the tax base

(B) Mopping up most of the

surplusses through taxation

(C) Achieving socio-economic

objective of the state

(D) All of the above
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59.

60.

SiHal HISEML :

(A) a8dl %l 48l : Geuleq il uR

MR YsaMl vl 8§

(B) y-flu-t vidauzmiqd dyelud eisl

zaHl e B

(C) wQre vidsuas Ayeiudl tisl 2aHi
1, 9

(D) 3L A Yzadl oladl auiRl s
w2 3ol sl ¥32 ©

oLRd Fell [Asudl 2e e sy R

g Y slu 87

(A) $333U4L Wl (base) Hél sl

(B) $242L gl2l wifaasinidl qen v

524l

(C) wuurl wlys 2ls dgall R

534l

(D) Gua~l sy

[P.T.O.]




61.

62.

The idea of ‘Big Push Theory is

associated with :
(A} Theory of balanced growth
(B) Theory of unbalanced growth

(C) Economic development with

unlimited supply of labour
(D) None of the above

The revenue neutral standard

 GST rate as recommended by the

Arvind Subramaniam Committee

is ;

(A) 20 percent
(B) 18 percent
(.C) 10 percent

(D) 26 percent
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61.

62.

‘Big Push Theory’ <l3-unidl si-l 212

AsAMl (Alsnani) »na 97
(A) ddeld RAsw-l Rigla
(B) gl sl Rgia

(C) Al 24YlBd yras a8 »uls

EETEY

M) Guzaiedl 1S gl

2(de guuelyy M Hd vl |

WS dRY WSS GST £ Al

=,

s £9?
(A) 20 2%
(B) 18 281

(C) 10 2x

(D) 26 28l



63. Inflationary gap arises in Keynesian  63. Ag-efluq Aweudl-l Rigladl gonazdl

w4 (Inflationary gap) s41 Glefl ay -
employment theory : o

87
(A) At full employment
(A.) o ool [Big w2
(B) After full employment
' | B) 4ol weusl wd sul udl

(C) Before full employment . _
() yel Aaoud]l wa sal udal

(D) None of the above | @) Gua-id]l 06 4dl

64. Walras model of general equilibrium N . .
64. cledt WML YHgAld WS

is :
(A) &5t duoug sy &
(A) Short-run model

(B) aioil duald Hisd 8
{B) Long-run model

(C) Aacuydl Hide
(C) Continuous model

(D) Non-continuous model ™ [B{ﬂ“ald&‘ik@[ Hise
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65. Empirical findings in Indian

agriculture sector indicate :

(A) Positive relationship between
agricultural productivity and

land holding size

(B) Negative relationship between
agricultural productivity and
land holding size

(C) No relationship between

agricultural productivity and

land holding size

(D) No relationship between
agricultural productivity and

land holding size for big

farmers
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65.

et dld Aedal @S MalaeEs dzel
Ad-unidll g oidia ©?
(A) 5B &l Geulesdl wA %Hl

LRIl S8 9P $5RAGS Aold

(B) gM el Geutesdl wA sl

Q1R8N 5% A% SRl Aol

(C) £[¥ &oel Geuiesdl wid i

QLB 56 942 419 doiy «d]

D) s[¥ gl Goulesdl x4 %3l
AR 58 92 Hi2l Wgdl W2 5O

qoig Al



66.

67.

The maximum rural population in
India as per 2011 census is in which

state ?

(A} Bihar

(B) Madhya Pradesh
(C) Gujrat

(D) Uttar Pradesh

If an exchange economy satisfies
the condition for the Walrasian
equilibrium to exist, then which of

the following does not imply ?

(A) Aggregate excess demand

function is continuous

(B) Aggregate excess demand
function is homogenéus of
degree zero

(C) Aggregate excess demand

function is zero for every price

(D) Aggregate excess demand

function is linear

Economics-I11
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35

2011 Al axdl ol wHEl ¢Lrd-L s

ol Al qai? aella axdl o?
(A) [Brair

(B) H Hea

(C) xd

(D) Guz uew

A RFma wedda diadallan AU el
Wil 13d uliyd 29 elu dl, DA-umisl

sal-il MEe aydl -2l)?

(A) Asez aanaidl wiot Ay Aderysl
3

(B) Asex adirirdl widl (A8 w3y
sl 0" B

(C) Ase adidl wiot QY 35 [Eyd

-

L B

(D) A5er dai-dl wion QA YIw &

(P.T.0.]




68.

69.

As a part of WTO guidelines,
Agreement on Agriculture (AQA)

does not consider :

(A) Direct payments to farmers are
permitted

(B) Indirect assistance and support

to farmers including R&D

support by govt. are not

permitted
(C) Domestic policies which directly
affect on production and trade

have to cut back

(D) Least developed countries do

not need to make any cuts

The maximum percentage of
wheat production takes place in

which state of India ?
(A) Punjab

(B) Haryana

(C) Uttar Pradesh

(D) Madhya Pradesh
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68.

69.

WTO <l swo{elisizi euozy,
Agreement on Agriculture (AQA)

AA-iell sl Rk s:g el?
(A) vigain fl€l 3saell 53 usu B
(B) AL gl ViGalnl Y18t Al A

251 R&D 1 251 uldd—{l a1

snarl 20dl A8

(C) Gowre~t 47 QYL uR %l Alell 212

45 adl il s AR 918l 2 usdl
(D) Aol wtieoL [slla el A1 w28
sl wzlRuid el

MArniel eudel sa XM 4G

Bowel estcnl Al Gl 37
(A) oo

(B} euru

(C) Gur ugu

D) 3 ugw



70. Generalized Least Squares can be
performed by runmning OLS on
variables fransformed sc¢ that the
error term in the transformed

relationship is :

(A) Heteroskedﬁstic
(B) Spherical

(C) Serially correlated
(D)) Eliminated

71. As per international usage,

injection of liquidity is called :
(A) Repo

(B) Reverse Repo -

(C) CRR

(D) Bank rate
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70. Generalized Least Squares,

71.

variables 43 OLS Run s34 531 asiu
%%] transformed relationship -+l

qdlue Al 5§ slu 37
(A) Heteroskedastic

(B} Spherical

(C) Serially correlated
(D) Eliminated

wild2 2l 2edlgd ugld Wl HHeldaHl

dzddirl Ul
(A) Repo 58 ©
(B) Reverse Repo 8 &

(C) CRR 8 8

(D) Bank rate & 2

[P.T.0.]




72.

73.

The order condition for identification
is :
(A) A necessary and sufficient

condition

(B) A necessary but not a sufficient

condition

(C) A sufficient but not a necessary

condition

(D) Neither necessary nor

gsufficient condition

Optimum theory of population
explains the relationship between

which of the following :

(A) present population and

population growth rate

(B) dependent population and
working population

() popﬁlation and available food
supply

overall

(I)) population and

resources
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72.

73.

Identification 12l order condition

il 55 97

(A) %33 @1 wahd wa

(B) %331 wat walid ad -2l

(C) walw yol #33] ward <l

(D) %330 6l 210 uuitd 22d vl 4l
qécﬂ UL $u9du Rigicl (Al
U deiy asd 53 Q7

(A) AU Al 24 drddl qauiql g2

(B) wt1q1z uidl axd]l wid siq

sl qxdl
(C) ardl i Buasd il yrasl

D) Al 244 Ve was



4.

75.

According to WTO agreement on
agricutlure blue box subsidies are

given for :

(A) agriculture and development

without any limitation

(B) influence the domestic market
price for food products

(C) to farmers to limit their
production for reason like
environment concerned

(D) None of the above

The basic impose of introducing land
reforms has been adversely affected

due to :

(A) Shortcoming in legislation
(B) Poor implementationl

(C) Lack of political will

(D) All of the above
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75.

vlladl Y-t WTO $312 uHIQL, blue
box Al (Al Wl M2 2l
L 97

(A) sl walel aotz 5l w Qs e

(B) &l Welsll w2 vlialRs osaeud

Y 2y Gell s we

(C) uulazelly Ridid s Goulg

WyRBc saL M2 vigdid

(D) Gu=widl 518 wat Adl

ol YLD Blve sl HIHdl Yo dg
uz la-umidfl su steael uldsn xur

el?

@A) sas qélzl

(B) wust dd wddl 2ia
(C) U SuSABAll 2iedlg

(D) Gual sl

fP.T.O.]
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